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GENERAL INSTRUCTIONS TO THE EXAMINEES :

1.

T TENET 30 WY T T A stiarda: e

Candidate must write first his / her Roll No. on the question paper
compulsorily.

it 9 T w= AAa £

All the gquestions are compulsory.

W W F I A W I J 7 o)

Write the answer to each question in the given answer-book only.

ot vt o smeAtrs mvz &, 39 o # 390 vw g @ fee

For questions having more than one part the answers to those parts
are to be written together in continuity.

oA = F &=t 3 A wvew | fd ver # 3fe 7 wew )/ fadvrare ER
R &= 9 F 7 F 5 A=)

If there is any error | difference / contradiction in Hindi & English
versions of the question paper, the question of Hindi version should
be treated valid.



6. WY I WEAw WA
1-13 1
14-24 2
25-27 3
28-30 4
Q. Nos. Marks per question
1-13 1
14-24
25-27

£ W K

28-30

7.  O¥E w21, 27, 28, 29 9 30 § F=HE AweT £

Question Nos. 21, 27, 28, 29 and 30 have internal choices.

1. faerms #1 dieem T wE e et

Write the formula to calculate the molality. 1
2. viETaE w1 S) A fefE )
Write the 5] unit of Resistivity. 1

3. Mg2* 3 c1” arw F dmra SR aEEa #1060 s.em 2 .mol !

T 76-3 s.em 2.mol ™} ¥1 MgCly Y AT SeR Sierar T S |



Limiting molar conductivities of Mgz+ and CI~- ions are

106:0 s.em?.mol™! and 763 s.em?.mol™! respectively. Calculate

- =1

the limiting molar conductivity of MgCl 5. %

B3] =

Ba(N3)p® @Tia 3m9es & 0 #@m & 2 ( Faw Aufew Ft wdem
fafam )

What happens on thermal decomposition of Ba[N3)s ? ( write only

equation of the reaction | 1

CaHs=N=CH,=CH;~ CHy~ CHy F1 IUPAC M featfea
CoHs

Write IUPAC name of C,;H = i\l— CH,=CH;=CH;= CH,. 1
CzHs

[Cr(Hy0)4Br 5 |Cl F 33 T4t =1 g7 fama)

Write the formula of ionisation isomer of [Cr{H20]4Br o |Cl. 1

T g - S (1)) STEeaaTE dTE # g7 ot

Write the formula of coordination compound mercury

tetrathiocyanato-cobaltate (111). 1



10.

11.

12.

T Bl &, 4 df9 SRUSiEY FEe ®i AtET gefiEn saEeEe |8
FE WAl £ 7 (Fa07 FGEET w1 HE fAEn)

What happens when benzene diazonium chloride reacts with

potassium iodide ? | write only equation of the reaction ) 1

GHEIET % Tow-ea 168 UF U Tger e £
Explain that vulcanised rubber is an elastomer. 1

feedt sfafiem % fom 3 ferds it st dwve=1 21 sfufen &t =iz 70
gt 7

For a reaction the unit of rate constant is scc_l. What will be the

order of reaction ? 1

sfafFar 24 + B —— 3798 & FFGwer A e fafa)

Write differential rate equation for the reaction, 2A + B —— product.

HaPO5 I 4T o & 2

What is the basicity of H3PO4 ? 1
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17.
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Arrange benzoic acid, 4-methyl benzoic acid and 4-nitrobenzoic acid in

increasing order of their acidic strength. 1
e T S SR Hied SRR

Explain calcination and roasting with example. 1+1=2
TR & fagdirm #t vF I |fea wEE

Explain denaturation of protein with an example. 1+1=2

400 K A7 W fF8 faema 1 W 91 0-0821 AgHEA € A faeaa #

Tl e /AT | T FAT )[R = 00821 L atm K~ 'mol ™! |

Osmotic pressure of a solution is 0-0821 atm at a temperature of

400 K. Calculate the concentration of selution in mol/litre.
. =1 =1 1 _
|R=00821 L atm K™ "mol " ] §+1§"2

(a) %rd & fagm sz & frdm Fram =t fafam

(q) HFF FEIA TS T AHITHA (93 TR

(a] Write Faraday's second law of electrolysis.

(b) Draw labelled diagram of standard Hydrogen electrode. 1 +1=2



18.

19.

20.

21.

aniifetgs sfafem =t ot =2 o=t frafafy awem -
(CHy);CBr +OH ™~ (F#1) —s
Complete the following reaction and explain its mechanism :

(CHy)3CBr + OH ™ (aq] — E”% =2

aifeias A 39 WA U aHT TWE | sgaferm w1 wNm e
i :

CgHgNH,, NH;, CgHsNH,

Arrange the following compounds in increasing order of their basic

strength. Explain reason :

C,HeNH,, NH,, CcHcNH, 14+1=2

IS A9 W AgerE o IS 3 3R feE

Write any two differences between addition and condensation

polymerisation. 1+1=2
(%) =ANA F 302 7 79 NaOH faem @ sifafen =t e fafan)
(q) HzPO, ¥ HTIET T 5 THSIST



22,

(%) 9 F1 WA T A% NaOH g & sfufrn =t wdtson fafan)

(@) PCls® dil o T9qeq 791 761 & 2 HHAE0)

ia) Write an equation of the reaction of chlorine with cold and

dilute NaOH solution.
(b) Explain the reducing nature of H3PO,. 1+1=2
OR

(a) Write an equation of reaction of chlorine with hot and

concentrated NaOH solution.

(b) Why are all the five bonds of PClg not equivalent ? Explain.

1+1=2

v Fife AfufEm F oy 99 10 sec &, @ 7% 9 feris #t oen
o |

Half life period for first order reaction is 10 sec. Calculate the rate

constant for the reaction. + 1%=2

(T
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24,

T AEE

Explain on the basis of valence bond theory that [IE[ENJ4] 2= js a low

spin complex ion.

fr=fefan Tt sfafrmat =1 o =i

@, Cl+CH,—Cl Frfaich |

(=)
(@ CHy-CH,-Cl+ KC(N—2—
() CH3-CH=CH,+Hl——

(7 CH3-CHy-OH+ NaBr + Hy80, ——

Complete the following chemical reactions :

Cl+CH..— 1 2nhydrous A]C]g_"
W oy
(b)  CHg=-CHy=Cl+ KCN—2—

) CHy-CH=CH,+Hl—

(d)  CHy=CH,=OH+ NaBr+ H,80, —»

2



25.

26.

(%)

(=)

(a)

(b]

(=)

()

(/)

(a)

(b

(c]

wFm e @7 7 el Fi & e fafe

fafrra d anfe sofnfem =@ w &9 75=r =1 s 1=
2ET € 7 FHEET)

Write the values of axial angles for hexagonal crystal system.

Which type of semiconductor is obtained by doping boron with

silicon ? Explain. 1+2=3
HEHTE e el wed E 2
FierRren AT fFE Fed & 2 UF ISR S |

M2* (Wela) A (2 = 29 ) ¥ fou ‘woer " g sl #
T it |

What is Lanthanoid contraction ?

What are Interstitial compounds ? Give an example,

Calculate the 'Spin only magnetic moment of ME"'[ ag ) ion

(Z=29). 1+1+1



27.

(30)

(M)

(=)

(31)

(=)

()

(@)

(b]

(c]

s et e Fea € 7 U 3T fatan )

3T 0 U4 W T § @ W WS tEEs W 3 w1

S E 7

qfFandt 7 T | # vF s fehEn)

WG ST () Fed § 7 0% Sqmw fefan)
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forega wmzm = S wEn wfasiEn § w8 o sl

What are non-narcotic analgesics ? Write an example,

Why is artificial sweetening agent, Aspartame used only in soft

drinks and cold foods ?

Write any one difference between antiseptics and disinfectants.
+1+1=2

e

OR



28.

(a)

(b

(c]

€)

(=)

()

()

()

(=
(a)
(bj

(c]

What is anionic detergent ? Write an example.
Why are chemicals added to food ? Write any two reasons.
Write any one difference between broad spectrum and narrow

spectrum antibiotics. % +=+1+1=3

b=

TR AR A Fed § 2 0 e fefan
79 fFm wHR =1 THevA ¥ 2 e
BT AT 5 TR R A s
E8C
IUTE F AR (F4 Fed § 7 IEww et
Ferditan HE AEEES U4 SETE GeEns A9 f med w1 W
= dm k2
femem wama =1 Amitwa fom wfen TmsmET)

What is enzyme catalysis ? Write an example.

Which type of emulsion 1s milk ? Explain.
Explain Electrophoresis with labelled diagram.

1

1
—+=-+1+1+1=4
2 2 1+1+1

OR



29.

()
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()

(30)

(=

(30)

What is selectivity of catalyst ? Write example.

What happens when hydrated ferric oxide sol is mixed with

arsenius sulphide sol ?

Explain Tyndall effect with labelled diagram.

+141+1=4

B =
+
| =

apifetaa dfret % [UPAC m fafaw :
i CH,=CH-CH,-OH

(i) "f": - II:H—KI:HE
OH OH OH

Frerietan Tamts stalFast  gwmo e

(i) T W CS o F Iufeafa # @il ¥ A

[ii) T T Cu T IR F 573 K A9 W W F4 W)
FHyar

apfffertaa At % (UpAC am fafar -

CHy
CH,



(m) Frfetas ooafes sfufrmst § ot f@fao -

[jj T W AR HNO 3 % W19

[{i) EHIA T IE T F TG
(a) Write IUPAC names of the following compounds :
[H CH, =CH-CH, - OH

(i) GHz — CH=CH,
OH OH OH

(b Write equations of the following chemical reactions :

(1) Fhenol reacts with Bro in presence of CS59

(ii] Ethanol is heated at 573 K in presence of Cu.
([1+1)+(1+1)=4
OR
(&) Write IUPAC names of the following compounds :
(i CHz~ D-iIC:H—CHE
CH4
(11) CHs—ti‘.H—Cﬂfﬂi
CH4



30.

(b]

(31)

(=)

(/)

(1)

(=)

)
(a)

(b)

(e)

Write equations of the following chemical reactions :

(1) Fhenol reacts with conc. HNO 5
(1 FPhenol reacts with zinc dust. (1+1)+(1+1)=4

Tos Arags o feomt fefam

AR eE e, FARMACE FE Foqee § Afuw sweEd ¥
w7

FAFACE AAT F AR HO AR
T
aes-fern s w o fEfan

FAFATAT A F FAGAF I T AR AT fezesel ad
FrerEl | 399 @A §, w4t 2

TS SR S AT WEEn § 999 9 50 #1509 1R

Write a note on Rosenmund reduction.
Why is luoroacetic acid more acidic than chloroacetic acid ?
Draw the resonating structures of carboxylate ion.

2+1+1=4
OR



